
A First Course on Kinetics and Reaction Engineering

Unit 4 Pre-Class Quiz
1. Match the quantities listed below to the corresponding equation

a. Rate with respect to a species i) 
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c. Generalized reaction rate iii) rj =
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d. Cell growth rate iv) 
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2. True or False? The rate expression for any reaction is the difference between two terms that depend 

upon the stoichiometry of the reaction as illustrated below for the reaction 2A ⇄ Y + Z.
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3. Which of the following is the Arrhenius expression?
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4. True or False? The activation energy that appears in the Arrhenius expression can be positive or 
negative.

5. True of False? The temperature dependence of a rate coefficient is ALWAYS modeled using the 
Arrhenius expression.
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